03

[05~10]] =71 & O|-&o10] A|tel EAI L.

05

07

5320x0.1=
5320x0.01= |
5320 0.001=

27 i

6.4 <X 52 =332.8

6.4x520=
0.064x52= |

H7)| i

18 <47 = 846

1.8x47= |
0.18x47= |

04

06

08

0.1x3482= |
0.01x3482= |
0.001x3482= |

5'_7|i

27X0.36 =9.72

g7|i

24 <58 =1392

24x058= |
0.24x0.58= |

Mirae(



[09 ~10]] =71 |& O 85f0] 4=

9 10
234 % 38 = 8892

2Hdsll 24 1.

74265 = 19610

2.34 < = 8.892 0.74 < =19.61
X 380 = 88.92 = 26.5=1.961
11 7% Zats 3o} oo} BA|L.
6.35 < 10 6350
6.35 %< 100 635
6.35 > 1000 63.5
12 A% Zab} e 2 3ot O s Q.
789] 0.1 7809] 0.0011y 0.78 <10
() ( ()
13 A% Zats ulwste] O o] >, =, <2 Y HEoxL
2.6 xX5.4 26 < 0.054

Mirae(



[01~04] [ | Qtofl U2 £E M2 8.

01 246x10=24.6

03

[05~10]] =71 & O|-&o10] A|tel EAI L.

05

07

2.46x100= 246 |
2.46 < 1000 =| 2460

5320<0.1=/ 532 |
5320 < 0.01 =
5320 % 0.001 =

27 i

6.4 <X 52 =332.8

6.4 520 = 3328 |
0.064 % 52 =

H7)| i

18 <47 = 846

1.8x4.7= 8.46 |
0.18 X 4.7=| 0.846 |

02

04

06

08

10x5.93= 59.3 |

100X 5.93 = 593

1000 % 5.93 = 5930 |

0.1 X 3482 = 348.2
0.01 X 3482 = 34.82
0.001 X 3482 =| 3.482

5'_7|i

27X0.36 =9.72

0.27%0.36 = 0.0972 |
27 X 3.6 =

g7|i

24 <58 =1392

2.4X0.58 = 1.392
0.24><0.58 =| 0.1392

Mirae(



[09~10]|=7| | B O] 8510] Alg SHsl HAL.

9 10
234 X 38 = 8892 74265 =19610
234X 3.8 =8.892 0.74><| 26.5 |=19.61
0.234 X380 = 88.92 0.074 X< 26.5=1.961

6.35 < 10 6350
6.35 <100 635
6.35 > 1000 63.5

12 Axt Zapt o 218 Aot O stH| 2.
789 0.1 7809] 0.001 4] 0.78 X 10

¢ ) ( O ) «C )

13 A% Z3bg vlaste] O Qo] >, =, <& I3 WdoAlQ.

2.6 X5.4 > 26 < 0.054

Mirae(



